Winmeen Tnpsc Gr 1 & 2 Self Preparation Course

2018

Tnpsc Aptitude & Mental Ability Model Questions
Set 6 Explanation
1. Find the left number in the given series
27,14,23, 47
QanpssiulL QgmLiflsr, all(fULL eTetsTen6u18: SHT6esoIs.
27,14,23, 47
a. 30 b. 34 C. 39 d. 44
solution
7-2=5
4-7=7
23-14=9
The difference between each number is 2
So9+2=1
Then 23 + 11 =34
When we add 34 + 13 = 47

So the answer is 34

2. Find the H.C.F. of 108, 288, 360
108, 288, 360 —65T L5.Q\LIM.61. &HT635T
a.18 b. 36 C.24 d 12

Solution

1 www.winmeen.com | Learning Leads To Ruling




Winmeen Tnpsc Gr 1 & 2 Self Preparation Course | 2018

108 = 2% % 33
288 = 25 % 32
360 =23 % 325

HCF=2%2x% 32 =36

3. What is the next term of the sequence 1,8,27,64,125,216, ...
1,8,27,64,125,216, ... 6161 QBMLIfl6dT S(BHES 2 MLy
a. 343 b. 412 C. 400 d. 250
Solution
13 =1
23=38
33 =27
43 = 64
53 =125
63 =216
73 =343
4. The LCM.of 2,222 s
3°5° 713
= 2 =, = -eo1 O.QUIM.LD SM6sT
a. 36 b.1/36 C. 1/1365 d. 12/455

Solution
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L.C.M of numerators

L.C.M OF FRACTIONS =

H.C.F of denominators

LCMof2,3,4and9o=4+*9=36

Since 3,5, 7,13 were prime numbers the H.C.F will be 1

L.C.M of numerators

L.CM OF FRACTIONS =

H.C.F of denominators

L.C.M OF FRACTIONS = % =36
3 3,
. 729327
5. Find the value of Voot Tae3
3 3,
V729-327 . . )
Vsiz+ Baaz O L setor
a. 2/5 b. 3/7 C. 6/4 d. 5/2
solution

3/9%9+9- /3+3x3 _9-3 _ 6 _
38x8+8+ Y7+7x7  8+7 15

2
5

6. Sixty-Five percent of a number is 21 less than four fifths of that number. What is the

number?

21 67651 6T6BOTETT60T DG |LILIM6DTS| Hevor(hLilipda Geuetoripll eTetotesslletr 65 F&Ha1g WEHLInILI
5 60 4 LII&6tT DU[HS eTevotessilest SlLIemL sI81&g! eury SN E Flowb eTesflev DibHS
6T658T6m 680T 660T(HLillg?

a. 140 b. 150 C. 135 d. 120

solution

let the number be x

4?X-(e'>5%ofx)=21

4X 65X

—-—=2
5 100
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5X = 2100

X =140

7. A man invested % of his capital at 7% i at 8% and the remainder at 10%. If his monthly

income is Rs. 561, the capital is

Q(H6UT H65T5) ngwg;mﬁ@e&ré DL BIENS 7% 6UL 198 (GLD, i DL BIENS 8% 6UL I95(&LD,
8550 SMensenll 10% el lo&@GWD (P&HeS(H QFWISIMM. DISHET CLPEVLD H6UTT DS
6U(THLOMEDBTLONS C1h. 561 QUIMISIMT eTevflev Bieuf (P&HES([H CFISH GLNss QFHTens

6T6UA6TTE?
a. 6600 b. 79200 C. 13200 d. 6732
Solution

Let the total capital invested be Rs x then

X X 5X
-*x7  —x8  —x*10
3 4 4 12 =561
100 100 100
PRT
Sl=—
100

7X 2x 25x _
300 100 600

14x+12x+25x
600

= 561

X
— =561

_ 561%600
51
X = 6600

X

8. The sum of money placed at compound interest doubles itself in 4 years. In how many

years will it amount to 4 times itself?

Q(H QFTens 4 UBHLSSIL Fal (B Ul lpuiled @revot(h WLMHIE &S HG5ICeu 4
LDLTBISTE 6T6UEUETTEY Dh605T(h Db (&LD?
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a. 12 years b. 13 years C. 8 years d. 16 years
solution

Rs 1 will get double in 4 years, which will become into 2rs.

In next 4 years it gets doubled and becomes Rs 4

So 4 + 4 = g years amount will become 4 times.

9. The sum of the squares of three consecutive natural numbers is 2030. What is the middle

number?

epesTm) H(HSSHSS By 6T6BBIS6IT 65T 6UTEHBMBIS6NT 65T Fo(H&H6V 2030. 6T6BT60 EMILDWI 6T6THT

wing)?

a. 25 b. 26 C. 27 d. 28
solution

let 1°* number be x

2" number be x +1

3" number be x + 3

x?2 + (x+1)%+ (x+ 2)% =2030

X2 +x2 +2x+1+x% +4x + 4=2030
3x% + 6X - 2025 = 0

Divide above eqn by 3

X% +2X - 675=0

(X+27) (X-25 =0

X = -27 is not a natural number
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So x =25

1 no=x =25

2% no=x+1=25+1=26
39no=x+2=25+2=27

So the middle number is 26

10. The mean of the 5 members is 32. If one of the number is excluded, then the mean is

reduced by 4. Find the excluded number.

5 eTesvrg6il6oT FMEfl 32. Seubleusttrsertlett esttemm Ha&HWw Cung), ymaflulles 4

(GODBSTEL [HHSLILILL 6T650T6065518 &T6soTaYLD.

a. 43 b. 48 C. 46 d. 47
solution
5+*32 =160

When 1 number is excluded the mean is reduced by 4 and the total number will also be

reduced by 1 so the total number will be 4
So 32-4=28

28*4 =112

160 - 112 = 48

The excluded number will be 48

11. Find simple interest for Rs. 6,750 for 219 days at 10% perannum

€M 6,750 &(& 219 BILGHEHEE 10% el lp IS H6vT CUL oIS HTeEoTs.
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a. Rs. 405
given
p =6750

N =(219/365)

R =10%

solution
PNR
Sl=—
100
g| = 6750+219+10 _
100%365

12. The L.C.M. of two numbers is 48. The numbers are in the ratio 2:3. The sum of the

numbers is

b. Rs. 155 c. Rs. 450 d. Rs. 350

405

B\ eT6sB1S61T 65T LS. GILIM.LD. 48. UGG ETEBBIBHEIT 2:3 6T65TN EHBHEHH 60 I6MLOHSI6TT6EDT. HHHS

61680186111 65T Fo.(hBH60I6VE SHITEBHT

a. 28

solution

b. 32 C. 40 d. 64

let the numbers be 2x and 3x

then their LCM is 6x

6X = 48

X=38

2(8) and 3(8) = 16 and 24

Then the required sum is (16 + 24) = 40
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13. Find the value of (4.9)?

(4.9)? - et &I HMeswT

a. 24.81 b. 24.09 C. 20.01 d. 24.01
solution

type 1

49 * 49 = 2401

S0 4.9 * 4.9 = 24.01

14. The difference between compound interest and simple interest on a sum for 2 years at

8% is Rs. 768. Then the sum is

246TTIoM(E 8% UL Ly eSS 560 B(1H 2605T(HS(EHEE) 6(H C&HTemsuilest ol (h
QUL Lo &G H6vTl UL le& @6t eflSHINELD €h. 768 6Tevtlev DiBHSH CHTens 6T6tTLIG)

a. Rs. 1,00,000 b. Rs. 1,10,000 c. Rs. 1,20,000 d. Rs. 1,70,00
solution

let the sum be x

_ PNR
100

Sl

_ X*¥8x2 16X _ 4X

100 100 25

_ R V2

Then Cl—p(1+100) p
_ 8 2
Cl—x(1+100) X

2 N2
=x(1+—)%-Xx
+5)

27

2
25) - X

=X(

_ 104x
625

8 www.winmeen.com | Learning Leads To Ruling




Winmeen Tnpsc Gr 1 & 2 Self Preparation Course | 2018

Given that difference between Cl and S| = 768

104x 4x
625 25

=768
LCM of 625, 25 = 625
104X - 100X = 768 * 625
4X = 480000

X =120000

15. Find the value of (256)%/*
(256)5/* -1 S SIT6voT
a. 512 b. 984 C. 1024 d. 1032

solution
(256'/*)°

(4)° = 1024

16. If x: y=2:1then (x2 —y?) : (x? + y?)is

x:y=2:16m600l60 (x%2 —y?) : (x* + y?) eledreon?

a.3:5 b.1:3 c.5:3 d.3:1
solution

(X2 —y?) =(x+y)(X-y)=@+)Q-1)=@3)1)=3

x2 +y5)=2%2+1%)=@4+1)=5

x2—y?) : (x* + yH=3:5
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17. Area of circle is equal to the area of a rectangle having perimeter of 50 cm and the

length is more than its breadth by 3 cm. What is the diameter of the circle?

(I UL LGl6tT LITLILLD, CF6uud:sdl6T &HMHMEMELD FLOME 2 676N, Hemeu 50 O\&.L5.
QacueusSHH6tT HEMD AHHVSHMS il 3 QF.L5. HSHHLOME 2 6716, 6T6vllev euL L GetT

all_L LD eTeu6u6TEY?

a.7cm b.21cm c.28 cm d. 14 cm
solution

let breadth of the rectangle be b.

Length = (b + 3)

2(b+b+3)=50

2b+3 25

2b=22 = b=n

Breadth = 11cm

Length = (11+3) =14cm

Area of the circle = area of the rectangle

mré=1+*b

2 14117
r‘ =
22

r? = 49 then r =7

Diameter = 2r =2 * 7 =14cm

18. A alone can complete a piece of work of Rs. 800 in 8 days; but by engaging an assistant,

the work is completed in 5 days. Find the share to be received by the assistant
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A eTstTLIGUIT L (HLD . 800 &&MedT 62(TH GeusmevemiL 8 [B6rflev (Ll ILIMT. HHS Ceusmevenil
316U (I 2.gellwnement eneusgis Csmesst(h 5 Hsrfley (PladHgmev 2 GallWmem(HaE,

Sleuf QaMhee GeussoTigWl LIMki(G, 6T6U66T6Y,?

a. 500 b. 300 C. 800 d. 600
solution

A = g days

A + B =5 days

8 + B = 5 days

B = 3 days

Then A =5 days

3
SOE* 800 =3 * 100 = 300rs

19. 15 men take 21days of 8 hours each to do a piece of work. How many days of 6 hours each

would 21 women take, if 3 women do as much work as 2 men?

15 GUIT, (5 BemeNE(S, 8 evstl CEID Geuemey GIFUIG), 21 BTL&6il6v 6(h Couemevenis
Q&g (Ple&sleTmET] 6T6vllev 62(Th HTEM6NS (& 6 ewotl CrID Geusney GIFWIF), 21
QUETTTS6IT 618G 6m60T BTLS6TT60 BUHG Ceusmevenil QFWIG! (WlplILIT. @IS 3 CILIETETSETT, 2

246851861fl65T FLoOLDOMETT Bousmevemil QI&F I 65TM6BTI?

a. 20 days b. 25 days c. 18 days d. 30 days
solution

total work done= number of men * days * hours * efficiency

15 * 21 * 8 * (1/2) = 21 * days * 6 * (1/3)

Days = 30

11 www.winmeen.com | Learning Leads To Ruling




Winmeen Tnpsc Gr 1 & 2 Self Preparation Course | 2018

20. A and B can do a job together in 7 days. A is 1% times as efficient as B. The same job can

be done by A alone in

A HMID B o HlweuisssT CFimba) e Ceusmevemwl 7 BTLs61T60 (lpddlesTmenTry. A
eTedTLIGU] B 6w &)l 12 LI eflenreuns (Wpliumy eestlev B8 Ceuemevens A

Seutlwinsg 1656607 BIL&6iT60 (LplplILIm?

a. 9§ days b. 11 days C 12& days d. 16§ days
solution
(A 1 days work):(B 1 days work) = Z :1=7:4

Let A and B 1 days work be 7x and 4x respectively

1
Then 7x+4x=;

1
nx ==
7
1
X ==
77

1 1 _ work
= (— % = — = =
A 1days work (— 7) T days 1 days
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